CLASS : 12th (Sr. Secondary) Code No. 5628
Series : SS-April/2021
Roll No. SET : A

A BEe
PHYSICS
AT -1
PART -1
(st 9 )
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 70 (AF-1 : 35, AFHII : 35)
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ge-o & AF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B A IAX R § @ 31 990 AR AT BN W Ued S-gRas
3 e fRar o qun qE-1 % e ol @ uw €2 @ Wy A Sem srafg wher s
BN 8 % geT qd qdemel St q-II 1 99-U Rar sem

-1 % 997-09 & F 12 9 @ 9FHI & 999-T § o 35 997 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P I F T B AL % 5 99797 § GRa g2 4 aor §o7 12 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.

5628/(Set : A)/ | P.T.O.




(2) 5628/(Set : A)
F97-Y5 7 qlle7 &1 @ T 79 T4 #S TR T @ B G FI-YAH % FI-IT T [0g)
The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.

FY JoT F T 0@ @ X & G, J97 H HHH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @Il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

GG % SfaRTT wls o e T& Al o efevaRdgar & fd siv fiar gav 7
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T SG9T [rE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 I 37 @ [@ B Grad F T & J9797 g T 8l & GhEr YU 59
T 7 g 4 arar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [739T -
General Instructions :

(i) &# geT S 8
All questions are compulsory.

(i) HEF FIT & 7% ITH QT T TT &
Marks of each question are indicated against it.

(iii) o7 G 1 @5 7% Sy Fa0T 597 & 7o Fo9F Fo7 2 il F &
Question Numbers 1 to 5 are very short answer type questions and carry 2
marks each.

(iv) 797 F&7 6 § 10 7% TG FT0T 597 & Tl 9 597 3 S & &
Question Numbers 6 to 10 are short answer type questions and carry 3
marks each.

(v) 97 T 11 0F 12 ¢ G707 557 & T J9% F97 5 S & &

Question Numbers 11 & 12 are long answer type questions and carry S
marks each.

5628/(Set : A)/ |



(3) 5628/(Set : A)

(i) TG F T @y & FE w78 & TR S5 o ar a5 § SIRikG a9 Ja
e 77 81 R e H & g R T T A & AT T & F97 H &l

There is no overall choice. However, an internal choice has been provided in
both questions of 5 marks. You have to attempt only one of the given choices
in such questions.

gque — A
SECTION-A

CERC SRS

(Very Short Answer Type Questions)
1. YhI-SE SE T 8 7 TehIT-degq S § ST &l SMigha e PRI fave § A s 2

What is photoelectric effect ? Draw a graph between the frequency of incident
light and stopping potential in photoelectric effect.

2. Eﬁé%zs15aﬁmﬁﬁwﬁwé|ﬁ;€ﬁqmaﬁm€ﬁwaﬁa€ﬁwq@mﬁgé

B S e 10 AW A AR Bl A B STIeiD 49T & 7

A tank is filled with water to a height of 15 cm. The apparent depth of a needle
lying at the bottom of the tank is measured by a microscope to be 10 cm. What
is refractive index of water ?

3. R g== a & #3 & Y1 ] >
Write any two characteristics of Electromagnetic Waves.

4. TH LCR URUY, FEH L = 5.0 H, C = 80 uF @1 R = 40 Q, AIE HAER wo H
IRee T 2

Obtain the resonant frequency wo of a series LCR circuit with L = 5.0 H,
C =80 puF and R =40 Q.

5. TpHl SR & GIar S 9T R 2

Define capacitance of a Capacitor.

gug — §
SECTION - B
(g ST u)

(Short Answer Type Questions)

6. P-N HFg SHIE H WM Hh [0 G Rehrl GRuy H R qEw FEd g
dqieediell % T3 8 REEu 3

Draw a circuit diagram of a Full Wave Rectifier using a P-N junction diode.
Show waveforms of input and output voltages.

5628/(Set : A)/ | P.T.O.



(4) 5628/(Set : A)
7. FEZOM WA & [T gY@ AfERemd e 3

Write Bohr's postulates for hydrogen atom.

8. dgq URuy % Y ey 4y & o #1 amayrs oy #E 30 g S i 3

State Wheatstone bridge principle for electrical circuits giving necessary circuit
diagram.

9. ¥y Afe & mea & e A R 7 R R 3

State and prove Gauss's Law in Electrostatics.

10. yeEdl gr Siiwe @ Ak R s qun s Rl e 3
Draw labelled diagram of A.C. generator and write its principle.
gee - 9
SECTION-C
(S St 9%)

(Long Answer Type Questions)

11. T 59 Fed & ? SR & Usrd & YA & AYGa & 991 H JdT Hice 5

What is Wavefront ? Using Huygen's principle to verify the Laws of Refraction.

e
OR
el wlielig g@de ¥ sfafeig so= &1 FHifhd AT SIRE MRt syl 3 e
BT % foTY 2o Frehieg

Draw a labelled ray diagram showing image formation in an astronomical
telescope. Derive expression for its magnifying power.

12. B R & 66l JOR W § 97 1 Yaied & @l § 36 U & & § 56 o7 W Red
X gt % el frg W i & & T o o #ifeT 5
A circular loop of radius R carries a current I. Obtain an expression for the
magnetic field at a point on its axis at a distance X from its centre.

CLC)|
OR
EURSCAKTE B S Ele I RET NI SIS MCISICS BER S e S AR R CA IS M S S G TR e el |
fasm 9 8 W 2l o1d: Tk URRR i GRHING iy

Derive an expression for the force between two long straight parallel
conductors carrying current in same direction. Hence define one ampere.

5628/(Set : A)/ |



CLASS : 12th (Sr. Secondary) Code No. 5628
Series : SS-April/2021

Roll No. SET : A
Aferes s

PHYSICS
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ &=t oo ool A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o U Tq F A fF G F 3T FT-0T § JET T 8 T 97 35 &1
Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o TR T T To JeT-UH YT e [
Candidates must write their Roll Number on the question paper.

o U g7 # FAT 37 § {4 TF GARGT FY T & J97-99 {7 T @& & GO B ITT 54
T F Bl o qar & T8 B AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) &# g7 oA 8
All questions are compulsory.

(i) 597 #% 1 @ 35 T GG §97 81 HAH F97 1 G & & [FEUger 597 &
gav dfr

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer the questions as per instructions.

5628/(Set : A)/ I P.T.O.



(2) 5628/(Set : A)
39 : R 77 g/% 997 (1-18) ¥ @9 oifee g7 [%eq T -

Directions : Select the most appropriate option from those below each question (1-18) :

1. p<iEU & ST § FUEEH A aEH B § 1
(A) TN (B) &
(C) FAFM qem B (D) T & & Tl
In a p-type semiconductor the minority charge carriers are :
(A) Electron (B) Hole
(C) Electron and Hole (D) None of these
2.WWWW§§WWWWW%I 1
(A) TOF =M B Al (B) TUT SFeTeh i Al
(C) STSdE® B Al (D) T Bt oft wifar =i
At absolute zero temperature, a crystal of pure germanium behaves as :
(A) a perfect conductor (B) a perfect insulator
(C) a semiconductor (D) None of these
3.@W(2He4)%mﬁmﬁ%@ﬁ%wqﬁmaﬁ: 1
(a) 29 (B) 2 9IH T§ 2 A
(C) 2 ¥R Td 2 Faiag (D) 2 g
Number and type of nucleons in the nucleus of Helium (2 He4) will be :
(A) 2 protons (B) 2 protons and 2 neutrons
(C) 2 protons and 2 electrons (D) 2 neutrons
4. BEGSH TN § r Bredr @ wE § [as S Refas e o 1
2 2
1 e 1 e
A) - ) S (B) S
e r 47560 2r
1 e? 1 e?
© o D)~
Teg T 4neqg 2r
In hydrogen atom, the potential energy of electron in an orbit of radius r is
given by :
2 2
1 e 1 e
A - 4 — (B) —
Teg r 47560 2r
2 2
1 e 1 e
(©) S (D) - o
4neg r 4neqg 2r

5628/(Set : A)/ Il



(3) 5628/(Set : A)
5. fE TaHM F91 9 95 S R ¢ 1

(A) 3% FHHAM & FPHARIC! o

(B) 3% ZHHM & FSHHIIUN o

(C) 3&H Tl & ATHAIIRN &

(D) 36 HaTT & SFTHATIC o

The de-Broglie wavelength associated with a moving particle is :
(A) directly proportional to its mass

(B) inversely proportional to its mass

(C) directly proportional to its energy

(D) directly proportional to its momentum

6. oIfa® T § Saag a9 Sedoid 8 & oaih U6 ¥ SR Jeisl &l aeee 1
(A) 3l TR q FH
(B) &l a¥wes & A &
(C) 3 qIeEd & e &
(D) 3z AR H s TG TE &
Electron emission from a metallic surface is possible only, when wavelength of
the incident light is :
(A) less than threshold wavelength
(B) twice of the threshold wavelength
(C) greater than the threshold wavelength
(D) no effect of wavelength

7. A ¥ TBIA H GG 3 x 108 H/@ Bl 1.5 TG aA B F BT B oAA SRW 1
(A) 1.5x 108 #@/q (B) 2 x 10® @i/q
(C) 1x 108 #Hi/d (D) 2.5x 10® /@

Speed of light in air is 3 X 108 m/s. For the glass of refractive index 1.5, the
speed of light in glass will be :

(A) 1.5x 108 m/s (B) 2x10% m/s
(C) 1x 108 m/s (D) 2.5x 108 m/s
8. T B & fou orcqaw faae™ @1 @t 30° & BW @ @t 60° B B9 & werd @
IS B 1
(a) 2 B) 2
1
(C) 1.5 (D) 7

5628/(Set : A)/ I P.T.O.



(4) 5628/(Set : A)
The angle of minimum deviation for a prism is 30° and the angle of prism is
60°. The refractive index of the material of the prism is :

(a) 2 (B) V2
1
(C) 1.5 (D) ﬁ
9. IYAIHIH 1.5 B HE q Al BBl B FHM Thal BodT B IV o9 WHd HE 21 AR
20 8 ®iHE g & o9 FHT F T, dF SRR askar Brear Bl 1
(A) 10 94 (B) 153
(C) 20 a4 (D) 30 o

Double-convex lenses are to be manufactured from a glass of refractive index
1.5, with both faces of the same radius of curvature. If the focal length is to be
20 cm, radius of curvature required is :

(A) 10 cm B) 15cm
(C) 20 cm (D) 30 cm
10. SREGY P qREe Bl § 1
(A) STETE | (B) faguer 9
(C) Tof FiReh WdaH | (D) SYF T |
Rainbow is a phenomena due to :
(A) Refraction (B) Dispersion
(C) Total Internal Reflection (D) All of the above
11. o & e e e i & e ) oEid & 7 1
(A) SAY & (B) HaT &
(C) Fot & (D) &9H %
Lenz's law is a consequence of the law of conservation of :
(A) Charge (B) Momentum
(C) Energy (D) Mass
12. oy Freal B foU @OR®HE 3 mH 81 300 R 9K TR H R 10° Waaw/ w3
s IRT fogq aes 99 © ¢ 1
(A) 1 dee (B) 2 diee
(C) 3dre (D) 4 dqre

For a coil having self-inductance 3 mH current flows at a rate of 103
ampere/sec. in it. The emf induced in it is :

(A) 1 Volt (B) 2 Volt

(C) 3 Volt (D) 4 Volt

5628/(Set : A)/ Il



(5) 5628/(Set : A)

13. T9HE & (B) ¥ 3 (v) A AN AT ¢ R FF a0 & (F) T 1
;)xg q
(€ q(vxB) D) vxgxB

- -
The force (F) acting on a particle of charge g moving with velocity (v) in

magnetic field (§) is :

w —9 ) F
vxB a
(C) q(vxB) (D) vxgxB
14. T CHEHN BT 8 § T SIS &5 & aeaq Y99 B ol NS & 9 e o 1
(A)  TRETEEHRT (B) <HgaTER
(C) FurHr (D) & Wk

A proton enters into a uniform magnetic field perpendicularly to it. The path of
the proton would be :

(A) Elliptical (B) Circular
(C) Parabolic (D) Linear

15. U% 9% &l dieedl (v) T 9T (i) & 99 T% U6 OXd @ & ol x| (S 76 @ &
TERIT YT 8) & 6 HIOT S ol A &M SeRrg B8R : 1
(A) tan® (B) cot®
(C) sin® (D) cos 6

The graph between voltage (v) and current (i) for a conductor is a straight line
which makes an angle 6 with x-axis (representing i). The resistance of the
conductor will be :

(A) tan© (B) cot®
(C) sin® (D) cos 6
16. ‘AH-HX A © 1
(A) TfarE @l (B) fE[q o @
(C) fafdre gfciy & (D) TTEhaT &l
"Ohm-metre" is unit of :
(A) Resistance (B) Current density
(C) Resistivity (D) Conductivity

5628/(Set : A)/ I P.T.O.



(6) 5628/(Set : A)
17. +lpc T + 8uc® & AGY -G § %8 g W ag 7 Ryd &1 37 W TN ad el &

YU - 1
(A) 1:8 B) 8:1
€) 1:1 (D) 1:16

Two charges +1uc and +8uc are situated at a distance in air. The ratio of forces
acting on them is :

(A) 1:8 B) 8:1
€) 1:1 (D) 1:16

18. M SUER 4Rl C i HeiRal & Ued 9ax %9 § qur 9% § it 9§ el S ol
Q1 SISl H od SRSl &1 AU B 1
A) 9:1 (B) 6:1
€) 3:1 (D) 1:9

Three capacitors of equal capacity C are joined first in parallel and then in
series. The ratio of equivalent capacities in both the cases will be :

A) 9:1 B) 6:1
() 3:1 D) 1:9
A3 : (797 19 & 27) 39377 Fav & Rea & &) Jid i -

Direction : (Q. No. 19 to 27) Fill in the blanks with appropriate answer :

19. SRS B AEE ..o 3l 1
The unit of Resistance is ...............

20. ..ccoenn. @Q?ﬁgﬁa%mﬁﬁﬂwmﬁm@ammﬁmqﬁﬁamﬁwa
Bt & fgq 9% S (EMF) & Jo &3 § S e ol 1

............... is a device can be used to measure potential difference, internal
resistance of cell and compare emf's of two cells.

21. IR TH [ aE B Gicad B H THEHN GIbI & B & wodqd W@ 991 39 & & wead
v AT F TN @ TS A B 9= IRG Y aes @ (PR e g s 5@ e 5),
BAM oo 2 1
When a metal rod of length [ is placed normal to a uniform magnetic field B

and moved with a velocity v perpendicular to the field, the induced emf (called
motional emf) across its end is ...............

22. %awqaqag%ﬁ%guﬁwﬁ@gaﬁwaamw ............ I e Bl 1
The vertical plane containing the longitudinal circle and the axis of rotation of
the Earth is called the ............... meridian.

5628/(Set : A)/ Il



23.

24.

25.

26.

27.

(7) 5628/(Set : A)

I8 AgeEn § SUGH UK & ‘FUMLT H IAEY dEh B G GRdld Bl S Gl
Tl U ST B . AefATH FEA o 1

The number of charge carriers can be changed by 'doping' of a suitable
impurity in pure semiconductors. Such semiconductors are known as

............... semiconductors.
............ F e 9gq e Bl & X FERY qRAY] # eMEe SR ROES &
T g9 Bkl & 1

............... as a whole, is electrically neutral and therefore contains equal
amount of positive and negative charges.

............ T Ul R et @ IO Bl Bl 1
............... waves are produced by hot bodies and molecules.

e W @ fava wew § erdfad fRRer @ Rl P & B & e U
Y BT 90° B 1
The ....cc....... angle for a ray incident from a denser to rarer medium, is that
angle for which the angle of refraction is 90°.

el goiersteT I oG @ ST fFebrer % foT g et Bl ATg B e FEd 8 1

The minimum energy needed by an electron to come out from a metal surface
is called the ............... of the metal.

739 : (797 28 @ 35) [=ngT T % FAY TF I=) TAT 7 A -

Direction : (Q. No. 28 to 35) Answer the following questions in one word/sentence :

28.

29.

3 T o & ofy sHie om-oTRMT B STedl IohH-STRMd 1

+8V > —4v

Is the Junction diode D is forward or reverse biased, in the given diagram ?

+8V > 4V

q e R Fem e el 1 : 27 & OO H 2| I AN gY@l P ST
& 7 1
Two nuclei have mass numbers in the ratio 1 : 27. What is the ratio of nuclear
density ?

5628/(Set : A)/ I P.T.O.



30.

31.

32.

33.

34.

35.

(8) 5628/(Set : A)
A AT H AN A FH WM R S A R S, @ B @ Sies WO TN ge !

If the Young's apparatus be immersed in water in place of air, then what will
be the effect on the Fringe width ?

T I F T B A, A D T WA Bt & 7 (&= 7&f) 1
Is the speed of light in glass independent of the colour of light ? (Yes or No)

+5 AR U -3 SR &HAl a & Tad o 9h § W@ 21 39 HAM &l & S
EIE LY 1
Two thin lenses of power +5 Dioptre and —3 Dioptre are placed in contact. Find
the power of this combination.

fper afereern H, fhdl A9 &1 <fiEd diced SE% faE[q a6 & & 9UEX Bnl ? 1

Under what condition, is terminal voltage of a cell equal to its Electromotive
Force ?

YR 5 (J) T SAYETS A (V) § T &1 G ey 1
Write down the formula for the relation of current density (J) and drift velocity
(V).

WmﬁﬂﬁmWﬁAPBWAQBaW% Iq B d% owiﬁzﬂu%ﬂ
0 ?

Consider the circuit shown where APB and AQB are semicircles. What will be
the magnetic field at the centre O of the circle ?

5628/(Set : A)/ Il



CLASS : 12th (Sr. Secondary) Code No. 5628
Series : SS-April/2021
Roll No. SET : B

A BEe
PHYSICS
AT -1
PART -1
(st 9 )
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 70 (AF-1 : 35, AFHII : 35)
Time allowed : 21 hours] [ Maximum Marks : 70 (Part-I : 35, Part-II : 35)

ge-o & AF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B A IAX R § @ 31 990 AR AT BN W Ued S-gRas
3 e fRar o qun qE-1 % e ol @ uw €2 @ Wy A Sem srafg wher s
BN 8 % geT qd qdemel St q-II 1 99-U Rar sem

-1 % 997-09 & F 12 9 @ 9FHI & 999-T § o 35 997 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P I F T B AL % 5 99797 § GRa g2 4 aor §o7 12 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.

5628/(Set : B)/ | P.T.O.




(2) 5628/(Set : B)
F97-Y5 7 qlle7 &1 @ T 79 T4 #S TR T @ B G FI-YAH % FI-IT T [0g)
The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.

FY JoT F T 0@ @ X & G, J97 H HHH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @Il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

GG % SfaRTT wls o e T& Al o efevaRdgar & fd siv fiar gav 7
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T SG9T [rE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 I 37 @ [@ B Grad F T & J9797 g T 8l & GhEr YU 59
T 7 g 4 arar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [739T -
General Instructions :

(i) &# geT S 8
All questions are compulsory.

(i) HEF FIT & 7% ITH QT T TT &
Marks of each question are indicated against it.

(iii) o7 G 1 @5 7% Sy Fa0T 597 & 7o Fo9F Fo7 2 il F &
Question Numbers 1 to 5 are very short answer type questions and carry 2
marks each.

(iv) 797 F&7 6 § 10 7% TG FT0T 597 & Tl 9 597 3 S & &
Question Numbers 6 to 10 are short answer type questions and carry 3
marks each.

(v) 97 T 11 0F 12 ¢ G707 557 & T J9% F97 5 S & &

Question Numbers 11 & 12 are long answer type questions and carry S
marks each.

5628/(Set : B)/ |



(3) 5628/(Set : B)

(i) TG F T @y & FE w78 & TR S5 o ar a5 § SIRikG a9 Ja
e 77 81 R e H & g R T T A & AT T & F97 H &l

There is no overall choice. However, an internal choice has been provided in
both questions of 5 marks. You have to attempt only one of the given choices
in such questions.

gvg - A
SECTION - A
(arforrg ST 5s)
(Very Short Answer Type Questions)
1. ©% LCR URYY, ff@H L = 5.0 H, C = 80 puF T R = 40 Q, HJE AGM wo &
U BifeTg 2

Obtain the resonant frequency wo of a series LCR circuit with L = 5.0 H,
C =80 uF and R =40 Q.

2. Ol GERA & aTiar @ g e 2

Define capacitance of a Capacitor.

3. SEHI-AGY A 1§ 7 TH-Agq TE TR H g qun MR e § A Ry 2

What is photoelectric effect ? Draw a graph between the frequency of incident
light and stopping potential in photoelectric effect.

4. FE IF 15 AW HOE T oG 4 W 31 R gEEe EN FE # ad W oSl e g8
T TG TEVE 10 Y A AR B ST B STUAdHih T § ¢ 2

A tank is filled with water to a height of 15 cm. The apparent depth of a needle
lying at the bottom of the tank is measured by a microscope to be 10 cm. What
is refractive index of water ?

5. fogq =& a1 & s & 7 el 2

Write any two characteristics of Electromagnetic Waves.
qig - §
SECTION-B
(7 S )

(Short Answer Type Questions)

6. Jgq Ve ¥ mew & e @ ey 7 faw FHivm 3

State and prove Gauss's Law in Electrostatics.

7. YEd 9T SN T Amifhd R gy g guew fsia i 3

Draw labelled diagram of A.C. generator and write its principle.

5628/(Set : B)/ | P.T.O.




(4) 5628/(Set : B)

8. P-N ¥y SEIE & IWEN & T T Rewd ey &1 B SRy Fash qur fria
dicedial % T &Y ey 3

Draw a circuit diagram of a Full Wave Rectifier using a P-N junction diode.
Show waveforms of input and output voltages.

9. RIS WM & foY dgy i srfememd fafew 3

Write Bohr's postulates for hydrogen atom.

10. g URY % U DN 49 & FEd & ags Ry B ad g S Sl 3

State Wheatstone bridge principle for electrical circuits giving necessary circuit
diagram.
gig -
SECTION-C
(S St 9e)
(Long Answer Type Questions)
11. B R % 66l gameR 91T § o1 1 Yaied f @l ¢ 36 T4 & &% d 56% o8 W Rud

X & 5l g W grahig &85 & o ioeh o i) 5
A circular loop of radius R carries a current I Obtain an expression for the
magnetic field at a point on its axis at a distance X from its centre.

CLC)|

OR
EURSCAKTE B S Ele  RET I S MCISICS BER S e S AR R CA IS M S R G I CE G | eullee
fGsm § I8 W@ Bl o1 Th YRR @l GRS

Derive an expression for the force between two long straight parallel
conductors carrying current in same direction. Hence define one ampere.

12. O 58 Fed B ? eI & (S H ST B TG & (IE B 9o Hivtel 5

What is Wavefront ? Using Huygen's principle to verify the Laws of Refraction.

e

OR
el Tlielig g@de ¥ sfafeig so= &1 FHifhd T SIRE MRt GEsll 3Eh e
B & o e feprien

Draw a labelled ray diagram showing image formation in an astronomical
telescope. Derive expression for its magnifying power.
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CLASS : 12th (Sr. Secondary) Code No. 5628
Series : SS-April/2021

Roll No. SET : B
Aferes s

PHYSICS
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ &=t oo ool A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o U Tq F A fF G F 3T FT-0T § JET T 8 T 97 35 &1
Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o TR T T To JeT-UH YT e [
Candidates must write their Roll Number on the question paper.

o U g7 # FAT 37 § {4 TF GARGT FY T & J97-99 {7 T @& & GO B ITT 54
T F Bl o qar & T8 B AIm
Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) &# g7 oA 8
All questions are compulsory.

(i) 597 #% 1 @ 35 T TGS F97 81 H9H 97 1 G & & [FErger g97 &
gav dfr

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer the questions as per instructions.
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(2) 5628/(Set : B)
3 : BT T 99% 797 (1-18) 7 @78 9IfF% ITGFT A% giag -

Directions : Select the most appropriate option from those given below each question
(1to 18):

1. &9 TARE a&g & B 1
(A) LT B AR (B) ZoEgiAl &l SAfRreRar
(C) AT &l FHil (D) SIS bl B4l
A positively charged body has in it :
(A) Excess of Neutrons (B) Excess of Electrons
(C) Deficiency of Electrons (D) Deficiency of Protons

2. A IR A 1 & g8 W T IR I w10 diee 31 @i & S dga 8 @l
e B ]
(A) 10 e /%A (B) 500 /M
(C) 1000 & /%M (D) 250 & /%AM

Two plates are at 1 cm a part and potential difference between them is 10 volt.
The Intensity of electric field between the plates is :

(A) 10 Newton/Coulomb (B) 500 Newton/Coulomb
(C) 1000 Newton/Coulomb (D) 250 Newton/Coulomb
3. [Egq o)1 99 (j) T S19ErE A (Vo) § @9 © ¢ 1
(A) j=neVa B) j=1°
Va
.V ) 1
c) j=-2 D) Jj=
ne neVy

The relation between current density (j) and drift velocity (Vq) is :

(A) j= neVa B j=1-
d
.V . 1
Cc) j=-2 D) j=
ne neVy
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(3) 5628/(Set : B)
4. R W IR I efcad AR & Geet SH T g ANl #X ad &1 IFw T4 Sy

gRT - ]
(A) 2R (B) 4R
(C) 6R (D) 8R

The length of a metallic wire of R ohm resistance is stretched two times its
initial length. Its new resistance is :

(A) 2R (B) 4R
(C) 6R (D) 8R

5. TN ST I HA 8 - 1
(A) A JEA & (B) ®ad JEHE &
(C) [ @ T & Il (D) A &Ef & P Tl
A moving charge produces :
(A) Electric field only (B) Magnetic field only
(C) Both Electric and Magnetic fields (D) None of the fields

6. T ﬂ'ﬁlﬂﬁq El?{—i‘@ﬁ : 1
(A) FEH g W T-gal & Fedl & (B) IAU A1 Rl gat & ke el o
(C) TH-g@l &l F & HT Fehell (D) T=% & AA ¥ FHehl §

Two magnetic lines of forces :

(A) Cut each other at the neutral point

(B) Cut each other near north or south pole
(C) Never cut each other

(D) Cut at the middle of magnet

7. TIHE T W W AR S QU A @ TR i e Foa FET FR § 1
(A) U % & T (B) & & qEdr 9
(C) & & |UE U & ARMe=E | (D) SUUE T W
The magnetic flux threading a wire loop placed in a magnetic field depend
upon :
(A) Area of the loop
(B) Magnitude of the field
(C) Orientation of the loop with respect to the field
(D) All of the above
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8. URT 3gT 4R & e F T B B 1
(A) o & 9 9 (B) WRIMHT & 9% & % H 9
(C) TA-8ad & Frw & (D) URER &% frad &
Direction of Induced Current is given by :
(A) Lenz's Law (B) Fleming's Left Hand Rule
(C) Biot-Savert's Law (D) Ampere's Law
9. q A P &mald 5D o -3D & T § @ ¥, S GYIT BiHE-g Q 1
(A) 50 | (B) -50 &
(C) 25 a4 (D) —25 a4

Two lens of power 5D and -3D are placed in contact. Focal length of the
combination will be :

(A) S50 cm (B) -50 cm
(C) 25cm (D) -25cm
10. e ovg & 69 g F1 S9N & § ? 1
(A) o1 IRE T (B) fereqor
(C) WRrdeH (D) @R
Which phenomena is used in optical fibre ?
(A) Total Internal Reflection (B) Dispersion
(C) Reflection (D) Interference
11. Bl B & foe g feee & 9 @ 1
(A) ST BT > R B (B) UG @I = RS o
(C) SMYaH BT < TR o7 (D) SYUH ¥ | HE el

Condition of minimum deviation for a Prism is :
(A) Angle of Incidence > Angle of Emergence
(B) Angle of Incidence = Angle of Emergence
(C) Angle of Incidence < Angle of Emergence
(D) None of the above
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12. 37 % f&R) 5 | BivEl & auad @ e H qX B a7 9 Besll B pony qee 00 o
(A) STER e © (B) ool &
(C) Heam & (D) AT Yot TS & S &

In Young's double slit experiment, the screen is moved away from the plane of
the slits, angular separation of the Fringes :

(A) remain constant (B) increases
(C) decreases (D) interference pattern disappears
13. 100 V & favaioR ar1 @Ra el saiagie § weffe 3-sifet e ® 1
A) 1.127 A (B) 11.27A
(C) 12.27A (D) 1.227A

de-Broglie wavelength associated with an electron, accelerated through a
potential difference of 100 Volt is :

A) 1.127 A (B) 11.27A
(C) 12.27A (D) 1.227 A

14. Fsifod AfH § IEE T GGG TG B A0 wE & U 1921 F QS &
Alsiel JLEhR & fehar 41 1
(A) T B (B) STEERT &I
(C) B B (D) e H

Awarded the Nobel prize in physics for his contribution to theoretical physics
and the photoelectric effect in 1921 was :

(A) Millikan (B) Einstein
(C) Rutherford (D) Compton
15. U8 o+ I Rl s2WM @& A 999 BRil 8, %edn o ¢ 1
(A) qIIRS (B) HHggI(+h
(C) wHEN S (D) IUUET Tl
All nuclides with same mass number A are called :
(A) Isobars (B) Isotones
(C) Isotopes (D) All of the above
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16. TESSH AN & G| I STae § idg & HA Hol T ~3.4 eV ol Iq Taed

¥ ZAFH P T ot & 1
(A) -3.4 eV (B) 6.8 eV
(C) —6.8 eV (D) 3.4 eV

The total energy of an electron in the first excited state of the hydrogen atom is
about -3.4 eV. Kinetic energy of the electron in this state is :

(A) -3.4eV (B) 6.8 eV
(C) -6.8 eV (D) 3.4eV

17. 9 p-n 9¥ W SRRME 99 FHIHR a1 S 2, 7@ @ ¢ 1
(A) faw@ Ao TomT 2 (B) agqus ae® G B LA HI Al ©
(©) T e B FH AT AT B (D) 4 q s T

When a forward biased is applied to a p-n Junctlon, it :
(A) Raises the potential barrier

(B) Reduces the majority carrier current to zero

(C) Lowers the potential barrier

(D) None of the above

18. T & ol 9ve RE & R @ R, @@ V Gl 99 q9r C e 9vE @ 1

V{ // }C

q qErd ¥
(A) @D (B) STETTH
(C) FHIAWTH (D) ST | § Hlg ol

Energy band of substance shown in the figure, where V is valence band and C
is conduction band :

7

Substance is :
(A) Metal (B) Semiconductor
(C) Insulator (D) None of the above

A3 : (797 19 @ 27) 3ygFT g7 & Rea &l # gid &g -

Direction : (Q. No. 19 to 27) Fill in the blanks with appropriate answer :

19. foEq &9 3@ R & ST R Sl Lo % it B el &l 1

Electric field is in the direction in which the ............... decreases steepest.
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20.

21.

22.

23.

24.

25.

26.

27.

(7) 5628/(Set : B)
AT THH ST Al § I il ol aIgel § I8 TaHM SAEL AEH ..o 211

Conductivity arises from mobile charge carriers. In metals, these mobile
charge carriers are ...............

W%Wgﬁﬁﬁmsﬁﬁgwwaawm ............ B 2l 1

The value of magnetic field at any point in the open space inside the toroid
IS veveienennen .

SI unit of self-inductance is ..............

.............. W%Wﬁwwﬁﬁmﬁmﬁqawwmwﬁ%w
B ABR HET 2 1

One common way to generate ............. rays is to bombard a metal target by
high energy electrons.

W T T SR G B % frm wicried 1
Snell experimentally obtained the laws of ............... of light

ERT v B B T & ¥ :
Energy of photon having frequency vis ............... .

............ T eeh s et U 991 e &1 ol 1
In......oooi. , lighter nuclei combine to form a larger nucleus.
Wp—n@%%%%ﬁﬁ@ﬂﬁﬂﬁ@ﬁ%-ﬁﬂﬂﬂm ............ | 1

Two important process occur during the formation of a p-n junction : diffusion
and ................

3% : (797 28 #35)@?@@3%%%@?@9@/%@##‘%

Direction : (Q. No. 28 to 35) Answer the following questions in one word/sentence :

28.

29.

qIgel # Iodel & R W a9 & 67 H 1 THE ISl § 7 1
What is the effect on relaxation time of electrons in metals, with increase in
temperature.

QA A T FHRR-FT S 8| §9% o F §9E 8 7 1

Two unequal resistance are connected in parallel. What is same for them ?
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30.

31.

32.

33.

34.

35.

(8) 5628/(Set : B)
gedl % FeEDd gl T THA BT H A (b Bl © 7 1

What is the value of angle of dip at the Earth's magnetic poles ?

10 & HE-g0 & Ia oF & 20 T G TELT H O [SG-THT G @MW 31 A
% gAY SR ufafdT F@T & ? 1

A point source of light is placed at a distance of 20 cm from a convex lens of
focal length 10 cm. Where should image formed on the other side of lens.

Tl TSN g & TF AIEH (SRS n) § STk Sir o Sfad qen Staafid a<a
% TR F ST T 1

Monochromatic light is refracted from air into a medium of refractive index n.
What is the ratio of the wavelengths of the incident and the refracted waves.

TN M  T9M aes @ & YhI J1 TR Bl S &1 IR a9 ST
RRTH FH P T W B ST HARAY b 8N 7 1

Two light waves of equal amplitude and wavelength are superimposed. What is
the phase difference between the waves so that amplitude of the resultant
wave will be maximum.

EERIS UWAY % g Aiew H gl Bl Ge BEl bl BOAl r, 81 GEQ HET B
fererit 2Rl 2 1

The radius of the first electron-orbit in hydrogen atom of Bohr model is r,.
What will be the radius of the second orbit.

T s H goae @ giEar 8x 1013 AW qur AeX # 5x1012 {7 7 erdaw®
p-CZY BRT 1Al -yl 1

In a semiconductor, the concentration of electrons is 8x10'® cm and that of

012

holes is 5x1 cm-3. Is it a p-type or n-type semiconductor ?
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CLASS : 12th (Sr. Secondary) Code No. 5628
Series : SS-April/2021
Roll No. SET : C

A BEe
PHYSICS
AT -1
PART -1
(st 9 )
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 70 (AF-1 : 35, AFHII : 35)
Time allowed : 21 hours] [ Maximum Marks : 70 (Part-I : 35, Part-II : 35)

ge-o & AF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B A IAX R § @ 31 990 AR AT BN W Ued S-gRas
3 e fRar o qun qE-1 % e ol @ uw €2 @ Wy A Sem srafg wher s
BN 8 % geT qd qdemel St q-II 1 99-U Rar sem

-1 % 997-09 & F 12 9 @ 9FHI & 999-T § o 35 997 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P I F T B AL % 5 99797 § GRa g2 4 aor §o7 12 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.
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(2) 5628/(Set : C)
F97-Y5 7 qlle7 &1 @ T 79 T4 #S TR T @ B G FI-YAH % FI-IT T [0g)
The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.

FY JoT F T 0@ @ X & G, J97 H HHH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @Il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

GG % SfaRTT wls o e T& Al o efevaRdgar & fd siv fiar gav 7
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T SG9T [rE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 I 37 @ [@ B Grad F T & J9797 g T 8l & GhEr YU 59
T 7 g 4 arar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [739T -
General Instructions :

(i) &# geT S 8
All questions are compulsory.

(i) HEF FIT & 7% ITH QT T TT &
Marks of each question are indicated against it.

(iii) o7 G 1 @5 7% Sy Fa0T 597 & 7o Fo9F Fo7 2 il F &
Question Numbers 1 to 5 are very short answer type questions and carry 2
marks each.

(iv) 797 F&7 6 § 10 7% TG FT0T 597 & Tl 9 597 3 S & &
Question Numbers 6 to 10 are short answer type questions and carry 3
marks each.

(v) 97 T 11 0F 12 ¢ G707 557 & T J9% F97 5 S & &

Question Numbers 11 & 12 are long answer type questions and carry S
marks each.
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(3) 5628/(Set : C)
(i) TG F T @y & FE w78 & TR S5 o ar a5 § SIRikG a9 Ja
e 77 81 R e H & g R T T A & AT T & F97 H &l

There is no overall choice. However, an internal choice has been provided in
both questions of 5 marks. You have to attempt only one of the given choices
in such questions.

ge - A
SECTION-A
(srforrg Sl 9e)
(Very Short Answer Type Questions)
1. 3 3% 15 Jf HaE % 9@ § 97 B qu&ﬁm@waﬁaﬁwﬁ%gﬁ

B S e 10 AW A AR Bl A B STIeiD 49T & 7

A tank is filled with water to a height of 15 cm. The apparent depth of a needle
lying at the bottom of the tank is measured by a microscope to be 10 cm. What
is refractive index of water ?

2. g g=o O & 3 & o7 fom 2
Write any two characteristics of Electromagnetic Waves.

3. T LCR URUY, F¥EH L = 5.0 H, C = 80 uF @ R = 40 Q, AJE HAER wo H
IR&ERT i1l 2

Obtain the resonant frequency wo of a series LCR circuit with L = 5.0 H,
C =80 uF and R =40 Q.

4. fhdl GeiRT @l eniRar & are faRa 2

Define capacitance of a Capacitor.

5. YEHS-JE SN HT & ¢ SH-dgd S H Fhd & Mg qen M e § A Ry 2

What is photoelectric effect ? Draw a graph between the frequency of incident
light and stopping potential in photoelectric effect.
qig - §
SECTION -B
(g STl we)
(Short Answer Type Questions)

6. BEZIM WA & [T SIgY Hl AERem R 3

Write Bohr's postulates for hydrogen atom.

7. G e F W DIce 97 & FEH B SEegsd IReg BE 30 8T Iwi@ A 3

State Wheatstone bridge principle for electrical circuits giving necessary circuit
diagram.
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(4) 5628/(Set : C)

8. g Wil ¥ Tow % Faw # iy 7 R B 3
State and prove Gauss's Law in Electrostatics.
9. YEd! gRT S & A [ a9y qu sE Reid i 3

Draw labelled diagram of A.C. generator and write its principle.

10. P-N @Fg SIS & IR &b [0 a1 RehHRl IR & & a9 Ew ot qor e
dicedial % T &Y ey 3
Draw a circuit diagram of a Full Wave Rectifier using a P-N junction diode.
Show waveforms of input and output voltages.

qls - 9
SECTION-C
(S S0 9%)
(Long Answer Type Questions)

11. 8 g guEH § ufafds a91 @& Ak RO SIRE I IR S SAEE

CECIICR M E R EAIRI 5

Draw a labelled ray diagram showing image formation in an astronomical
telescope. Derive expression for its magnifying power.

3TeE
OR

T 58 ®ed § ? SR & TSI B SUANT i STIAT & [EHl B A i
What is Wavefront ? Using Huygen's principle to verify the Laws of Refraction.

12. & T HY AL = & 4" T AN g @ [0 Horh Fepiere S g g o @
e & 98 W &l o Th YRR A ORWING it 5

Derive an expression for the force between two long straight parallel
conductors carrying current in same direction. Hence define one ampere.

YqT
OR

Bear R & 6 g W @ 1 1 vaned & W ool 39 U9 $ % 9 36% | W R
X g & [l g W i &5 & forg eioieh T it

A circular loop of radius R carries a current I. Obtain an expression for the
magnetic field at a point on its axis at a distance X from its centre.
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PHYSICS
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ &=t oo ool A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o U Tq F A fF G F 3T FT-0T § JET T 8 T 97 35 &1
Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o TR T T To JeT-UH YT e [
Candidates must write their Roll Number on the question paper.

o U g7 # FAT 37 § {4 TF GARGT FY T & J97-99 {7 T @& & GO B ITT 54
T F Bl o qar & T8 B AIm
Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) &# g7 oA 8
All questions are compulsory.

(i) 597 #% 1 @ 35 T TGS F97 81 H9H 97 1 G & & [FErger g97 &
gav dfr

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer the questions as per instructions.
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(2) 5628/(Set : C)
3 : BT T 99% 797 (1-18) 7 @78 9IfF% ITGFT A% giag -

Directions : Select the most appropriate option from those given below each question
(1to 18):

1. FOTARW a8 ¥ & : 1
(A) LT B AR (B) ZoEgiAl &l SAfRreRar
(C) SFgHl &l FHl (D) SIS i SAfehar
A negatively charged body has in it :
(A) Excess of Neutrons (B) Excess of Electrons
(C) Deficiency of Electrons (D) Excess of Protons

2. A G SRERA fAg-omael, S 9@0% W 1 puc # AR@ 3, B 1 HiX H g0 | ag |

@ A Bl S Rafos et @ 1
(A) 19 (B) 1 SAFI-dIee
(C) 9x107° S (D) =

The electric potential energy of a system of two positive point charges of 1 uc
each placed in air 1 metre a part is :

(A) 1 Joule (B) 1 electron-volt
(C) 9 x 103Joule (D) Zero
3. ORI 9 (j) T fagpq oRr (1) § @ B 1
(A) j= ValA ® Jj-2
o1 =
€ Jj= 2 (D) j=1A

The relation between current density (j) and electric current (I) is :

(A) j= VA ® j-2
_ I _
(C) J== (D) j=1IA

5628/(Set : C)/ Il



(3) 5628/(Set : C)
4. e T Hoit 9vs e A I @ B, S@I VG v q C A 9 @ 1

C
IEg > 3eV

NI,

Y e B
(A) TTH (B) oTSAEH
(C) HaH (D) S § q HE e

Energy band of substance shown in the figure where V is valence band and C
is conduction band :
IEg > 3eV

W/

Substance is :

(A) Metal (B) Semiconductor
(C) Insulator (D) None of the above

5. S p-n €Y W ULERRG THE FgHYER R S, 99 98 1
(A) s quh TowT o (B) TgHEAE dAEH G &I TG adl ©
(C) fa9a qus A F7 HT a1 § (D) I & q B 7l
When a reverse biased is applied to a p-n junction, it :
(A) Raises the potential barrier (B) Increases the majority carrier current
(C) Lowers the potential barrier (D) None of the above

6. BZZIOM AT B T I SFae H FaaeH Bl HA Bl AT -3.4 eV ol 36 eI
4 goEg B RSt el 6 1
(A) -3.4eV (B) 6.8eV
(C) -6.8eV (D) -1.7eV

The total energy of an electron in the first excited state of the hydrogen atom is
about -3.4 eV. Potential energy of the electron in this state is :

(A) -3.4eV (B) 6.8eV

(C) -6.8eV (D) -1.7eVv
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7. U8 0 RFE EH @@ N 9 8 dfd TE] A Z B 8l dead © 1
(A) RS (B) &HYIh
(C) wHeTH (D) SR & H5 Tel
Nuclides with same neutron number N but different atomic number Z are
called :
(A) Isobars (B) Isotones
(C) Isotopes (D) None of the above

8. &7 1905 ¥ fpq Asnrp I wemier foEgq v @ e & € dga geeE AR 71w
i ®9 § T T st e ? 1
(A) i (B) oTEEERET
(C) TwHE (D) e

In 1905, which scientist proposed a radically new picture of electromagnetic
radiation to explain photoelectric effect ?

(A) Millikan (B) Einstein
(C) Rutherford (D) Compton
9. 100 V & f¥aiqt &)1 @R Fhel giegie @ Heifee -sifwell adee @ 1
(A) .1127 nm B) 1.127 nm
(C) .127 nm (D) .1227 nm

de-Broglie wavelength associated with an electron, accelerated through a
potential difference of 100 Volt is :

(A) .1127 nm B) 1.127 nm
(C) .127 nm (D) .1227 nm
10. 37 % faRr o & BiRAl & 9aa @ e # g &Y a4 W Bhell & aredfas o o 1
(A) SR TEdl @ (B) wedl &
(C) Hear ® (D) SAHLT Yo IS & Sl 8

In Young's double slit experiment, the screen is moved away from the plane of
the slits, the actual separation of the Fringes :

(A) remain constant (B) increases

(C) decreases (D) interference pattern disappears
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11. 60° HT a B & i 9 & 78 e fa=ee & 30° 21 39 Refd & ofoes i

& A BT : ]
(A) 30° (B) 45°
(C) 60° (D) 75°

For yellow light incident on a prism of angle 60° the angle of minimum
deviation is 30°. The angle of incidence in this situation is :

(A) 30° (B) 45°
(C) 60° (D) 75°
12. ‘Flfwr & 9 gear & SuEnT & 8 ? 1
(A) @R (B) R
(C) fasrer (D) Q-SRI
Which phenomena is used in "MIRAGE" ?
(A) Interference (B) Reflection
(C) Dispersion (D) Total Internal Reflection
13. & o0 RS &9 8D T 4D ¥ Hw F W@ T ST GYH BHE-GU © ¢ 1
(A) 50 94 (B) -50 qHi
(C) 25 o (D) —25 a4

Two lens of power 8D and —-4D are placed in contact. Focal length of the
combination will be :

(A) 50 cm (B) -50 cm

(C) 25cm (D) -25cm

14. TF Fosol § dogeahd wed 1 §&0s § 5 39X § goat 2 d§X & S 2| Fueal A

IR fg are® 99 © ¢ 1
(A) 3 die (B) 30 A
(C) 300 die (D) .3 ae

The magnetic flux linked with a coil is decreased from 5 Weber to 2 Weber in
1 second. The induced electromotive force in the coil is :

(A) 3 Volt (B) 30 Volt
(C) 300 Volt (D) .3 Volt
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15. i &5 § W@ T qX & QU § § oA a g R MR 787 Bl © 1
(A) U % & T (B) & & dEdr 9
(C) & & |UE U & ARMe=H | (D) U Bl AP |
The magnetic flux threading a wire loop placed in a magnetic field does not
depend upon :
(A) Area of the loop
(B) Magnitude of the field
(C) Orientation of the loop with respect to the field

(D) Shape of the loop
16. Ju&F &7 3@ & el g W ©E . weRen 39 fag W aRomd e sawh © ¢ 1

(A) foEga s F & B) fo@ &= E @
(C) T & B &l (D) foggq arr 1 &
The tangent to the field line at a given point represents the direction of the
net :
(A) Electric Force (F) (B) Electric Field (E)
(C) Magnetic Field (B) (D) Electric Current (I)
17. ol o Frsel Feammiex & oY § SwaReT f6ar S B 1
(A) =R H I UfeRg @ | (B) HHMR ¥ &g ey & 4
(C) ol § I= Uferly & & (D) ol § g SRy & 4

Moving coil galvanometer is converted into ammeter by :
(A) Connecting high resistance in parallel

(B) Connecting low resistance in parallel

(C) Connecting high resistance in series

(D) Connecting low resistance in series

18. R W UfRIY drt ofas qX & Wiedx el ey 9] A &K ad &1 I Fa1 Je

BT 1
(A) 8R (B) 4R
(€C) 12R (D) 16R

The length of a metallic wire of R ohm resistance is stretched four times its
initial length. Its new resistance is :

(A) 8R (B) 4R
(€) 12R (D) 16R
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A3 : (797 19 & 27) 3ygFT g7 & Rea &l 1 gid &g -

Direction : (Q. No. 19 to 27) Fill in the blanks with appropriate answer :

19.

20.

21.

22.

23.

24.

25.

26.

27.

g BT [T oo q AR BB RN W AT A E 1
Electric field lines start from ............... and end at negative charges.

T Aewqel R ashierr p B R ofy o g & F 3 oRemr & w9
EECIECICAG I 1

An important quantity is the mobility p defined as the magnitude of the
............... per unit electric field.

R & X B fg W o e % WHCK BNl B 1
The .....cceene. inside solenoid becomes everywhere parallel to the axis.

TR U89 W AR 99 & emf SO oM, e dF ga Searet & &R &, 4 dF
SRR § - S, ST T . | 1

The generation of emf by a solar cell, when light falls on, it is due to the
following three basic processes : generation, separation and .............. .

.............. ¥ o i et Bh Ah S 8l 1
In............. , heavy nucleus decays into lighter nucleus.
I G e Bd Bl 1

Photons are electrically ...............

ol & Hregd & P & [, Waﬁwzﬁrwwa@?ﬁaﬁwzﬁwwa@rﬁ
............ BT Bl

The ratio of the sine of the angle of incidence to the sine of angle of refraction
IS ceviiienenes

10™ lolﬁavl%aiaﬁxﬁmﬁ 6800A TERE & Yaal, d&m 500 Hi & A a3 & A

............ (Mferes fer) 61 W 9 B 1
............... (physical quantity) is same for X-rays of wavelength 10_10m, red
light of wavelength 6800A and radio waves of wavelength 500 m.

FE IE TN B S TATE ..o Bl 1

SI unit of coefficient of mutual inductance is ................ .
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735 : (997 28 @ 35) [=ifen&a g7l & ST 0% U= aH H A

Direction : (Q. No. 28 to 35) Answer the following questions in one word/sentence :

28.

29.

30.

31.

32.

33.

34.

35.

U ST § a9 B GEar 5x10M23H 3 qer e & 8x 1013 A2 &, s
p-2139 BN S7Yal n-TEY ? 1
In a semiconductor, the concentration of electrons is 5x10'2cm-3 and that of

holes is 8x103cm=3. Is it a p-type or n-type semiconductor ?

BRGSO WA & AgY Hied H Iodai Bl qscl BN bl BT 1, o el HE b e
fepert B ?

The radius of the first electron-orbit in hydrogen atom of Bohr model is r,.
What will be the radius of the third orbit.

AN ST 9 99 aORe & & TSl a3 STSHRING &l ol & ROl a3 H ST
IAqH H & [T TEN % e FHAIL e B 7 1

Two light waves of equal amplitude and wavelength are superimposed. What is
the phase difference between the waves so that amplitude of the resultant
wave will be minimum.

N FHiE F THLT H A, THLT B T O A BA R P (& ar 7&F ) 1
Is the speed of light in glass independent of the colour of light ? (Yes or No)

F 8 a1 399 oF 8 2 F g0 W UF a6 @ T &l o9 & 84 R a% F1 gfifed
i 7 7 1
An object is placed at a distance of 2 F from a convex lens of focal length F.
Where should image of object formed on the other side of lens.

gl & T A 3@ (FRE) W T HI0T H AW Foa B © 7 1
What is the value of angle of dip at the Earth's magnetic equator ?

& A dfrg Aol # S 81 3 ol & EEE ol 1
Two unequal resistance are connected in series. What is same for them ?
qrgell & 3agl & A W a9 & g B T G9E TSl § ¢ 1

What is the effect on relaxation time of electrons in metals, with decrease in
temperature ?
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CLASS : 12th (Sr. Secondary) Code No. 5628
Series : SS-April/2021
Roll No. SET : D

A BEe
PHYSICS
AT -1
PART -1
(st 9 )
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ g% : 70 (AF-1 : 35, AFHII : 35)
Time allowed : 21 hours] [ Maximum Marks : 70 (Part-I : 35, Part-II : 35)

ge-o & AF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% I B A IAX R § @ 31 990 AR AT BN W Ued S-gRas
3 e fRar o qun qE-1 % e ol @ uw €2 @ Wy A Sem srafg wher s
BN 8 % geT qd qdemel St q-II 1 99-U Rar sem

-1 % 997-09 & F 12 9 @ 9FHI & 999-T § o 35 997 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P I F T B AL % 5 99797 § GRa g2 4 aor §o7 12 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.
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(2) 5628/(Set : D)
F97-Y5 7 qlle7 &1 @ T 79 T4 #S TR T @ B G FI-YAH % FI-IT T [0g)
The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.

FY JoT F T 0@ @ X & G, J97 H HHH FaT [

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @Il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

GG % SfaRTT wls o e T& Al o efevaRdgar & fd siv fiar gav 7
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gdereff srgr T To FIT-UA T SG9T [rE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 I 37 @ [@ B Grad F T & J9797 g T 8l & GhEr YU 59
T 7 g 4 arar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [739T -
General Instructions :

(i) &# geT S 8
All questions are compulsory.

(i) HEF FIT & 7% ITH QT T TT &
Marks of each question are indicated against it.

(iii) o7 G 1 @5 7% Sy Fa0T 597 & 7o Fo9F Fo7 2 il F &
Question Numbers 1 to 5 are very short answer type questions and carry 2
marks each.

(iv) 797 F&7 6 § 10 7% TG FT0T 597 & Tl 9 597 3 S & &
Question Numbers 6 to 10 are short answer type questions and carry 3
marks each.

(v) 97 T 11 0F 12 ¢ G707 557 & T J9% F97 5 S & &

Question Numbers 11 & 12 are long answer type questions and carry S
marks each.
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(i) TG F T @y & FE w78 & TR S5 o ar a5 § SIRikG a9 Ja
e 77 81 R e H & g R T T A & AT T & F97 H &l

There is no overall choice. However, an internal choice has been provided in
both questions of 5 marks. You have to attempt only one of the given choices
in such questions.

gque — A
SECTION-A

CERC SRS

(Very Short Answer Type Questions)

1. fogq g o & &g @ IO ford 2
Write any two characteristics of Electromagnetic Waves.

2. T% LCR TRy, BEH L = 5.0 H, C = 80 uF T R = 40 Q, HJE AGM wo &
e i 2
Obtain the resonant frequency wo of a series LCR circuit with L = 5.0 H,
C =80 uF and R =40 Q.

3. ThOl GRA &l oTiRar @ g fam) 2

Define capacitance of a Capacitor.

4. -GG NG T § 7 TG TE H TR H g qun R fOwe § A SRy 2

What is photoelectric effect ? Draw a graph between the frequency of incident
light and stopping potential in photoelectric effect.

5. zﬁé%as15@tﬁw1éa$aﬁrﬁw%ﬁm°rqwaﬁm3ﬁwaﬁaﬁﬁwqﬁwvﬁ

P SR TEE 10 T A K o1 ST BN SYEATE N & 7
A tank is filled with water to a height of 15 cm. The apparent depth of a needle

lying at the bottom of the tank is measured by a microscope to be 10 cm. What
is refractive index of water ?
qe - 9
SECTION - B
(7 STl )

(Short Answer Type Questions)

6. dEq WUy % oY Hewy A & FEH B oEH TRUY RE 39 gL Swe i 3

State Wheatstone bridge principle for electrical circuits giving necessary circuit
diagram.

7. g Wfce § e & W & ey 7 e SR 3

State and prove Gauss's Law in Electrostatics.
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8. YdmEdt g SN &1 AMifhd R sEY qon 39 s g 3

Draw labelled diagram of A.C. generator and write its principle.

9. P-N HFg SHIE # IWM & [0 G Rehrl GRuy # e qeEw Fas g e
dieediell % T3 Y REEy 3

Draw a circuit diagram of a Full Wave Rectifier using a P-N junction diode.
Show waveforms of input and output voltages.

10. EEGIoM TR & [ e B AHERem fraw 3

Write Bohr's postulates for hydrogen atom.
gig -
SECTION-C
(S S0 9%)
(Long Answer Type Questions)
11. & dd 99 T ATh & S @ ai S & [C oieh [Wepliery e g O O &
fRom & 92 W & or: T YRR A WG ST 5

Derive an expression for the force between two long straight parallel
conductors carrying current in same direction. Hence define one ampere.

3TeE
OR

Breer R & forell qameR 19 @ 97 [ vEned o @I el 36 U % 9 6% oW W R
X gt % el frg W gl & & [T oo o #ifeT

A circular loop of radius R carries a current I. Obtain an expression for the
magnetic field at a point on its axis at a distance X from its centre.

12. Rl Ticlig o 4 sfafeie so= & THifed RO RE S qEEIRl 3Eh e
BT % foTY 2o Fremieg 5

Draw a labelled ray diagram showing image formation in an astronomical
telescope. Derive expression for its magnifying power.

YqT
OR

T fFY @ed 2 ? BRI & (ST B SUNT i AUGdT b UE B GG BT

What is Wavefront ? Using Huygen's principle to verify the Laws of Refraction.

5628/(Set : D)/ |



CLASS : 12th (Sr. Secondary) Code No. 5628
Series : SS-April/2021

Roll No. SET : D
Aferes s

PHYSICS
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ &=t oo ool A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o U Tq F A fF G F 3T FT-0T § JET T 8 T 97 35 &1
Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o TR T T To JeT-UH YT e [
Candidates must write their Roll Number on the question paper.

o U g7 # FAT 37 § {4 TF GARGT FY T & J97-99 {7 T @& & GO B ITT 54
T F Bl o qar & T8 B AIm
Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) &# g7 oA 8
All questions are compulsory.

(i) 597 #% 1 @ 35 T TGS F97 81 H9H 97 1 G & & [FErger g97 &
gav dfr

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer the questions as per instructions.
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3 : BT T 99% 797 (1-18) 7 @78 9IfF% ITGFT A% giag -

Direction : Select the most appropriate option from those given below each question
(1to 18):
1. 9 § W & g9Ee & 7 Wagd B W@ 3 W 3 91 0w a9 & AN 1
(A) T SN (B) H¢ SAM
(C) =& W (D) S & S

On introducing a dielectric material between two positive charges situated in
air, the repulsive force between them will be :

(A) increased (B) decreased
(C) the same (D) zero

2. A A IR 2 T 8 W T IR I w10 diee 31 @i & S dga A @l
e & ]
(A) 5 Fe/Fm (B) 500 &/
(C) 5000 =& /Al (D) 250 e /%A

Two plates are at 2 cm a part and potential difference between them is 10 volt.
The Intensity of electric field between the plates is :

(A) S5 Newton/Coulomb (B) 500 Newton/Coulomb
(C) 5000 Newton/Coulomb (D) 250 Newton/Coulomb
3. TEq a1 (I) T 0@ I (Vo) § 979 © 1

(A) I=neVy B) I=neAVy,

Va neA
C) I=—% D) Vg=—o
(©) oA (D) Vg 7
The relation between electric current (/) and drift velocity (Vg is :
(A) I=neVy B) I=neAVy4

Va neA
C) I=—% D) Vg=—o
(©) oA (D) Vg T
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4. THIT H 90° AT 180° W Higw & oy feome fbw Mo Bt & Sww fear v & 0 1

(A) FarEor (B) TOT AR T
(C) W (D) o
Prism designed to bend light by 90° or 180° make use of :
(A) dispersion (B) total internal reflection
(C) reflection (D) diffraction
5. 8l T A% B (A% n) & QA e T Dy BIT 8 1
n-1
(&) D =—— (B) Dm =(n-1)A
A
(C) Dp=—— (D) Dp=n-1
n-1

For small angle A prism (Refractive Index n), angle of Minimum deviation Dpn
is :

n-1
(A) Dy == (B) D, =(n-1)A
© D, =2 D) D, =n-1
n-1
6. I I {9 WA 10D T 5D B, T ¥ W T I €Y BHE-3 © - 1
(A) 5T (B) -5t
(C) 20 a4 (D) —20 a4

Two lens of power 10D and -5D are placed in contact. Focal length of the
combination will be :

(A) Scm B) -5Scm
(C) 20 cm (D) -20 cm

7. I % AR WA d, cwash A9 B g FH AERHE a Thal A @ e e W)
BhsT 1 areqias qrde 1
(A) oTEX & D (B) o &
(C) & ® (D) IR | Hig Tl

In Young's double slit experiment, the monochromatic source is replaced by
another monochromatic source of shorter wavelength, then actual separation
of the Fringes :

(A) remain constant (B) increases
(C) decreases (D) None of the above
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8.

10.

11.

(4) 5628/(Set : D)

V aice 3 fawaiay g @R 5 sadee & defg st aiee © 1
1227 1.227

(A) N A (B) Nz A
12.27 122.7

N AN

de-Broglie wavelength associated with an electron, accelerated through a
potential difference of V volt is :

1227 4 1.227 4
(A) N A (B) W A

12.27 4 122.7 4
©) A D) —=A
frg Ieh 7 SRR FRA-Rgd T B SS9l IRYET § w9 aget & o
fafpeer-sghrdl & kg wve & forg enfua fepar ? 1
(A) i (B) STEETE
(C) T (D) @M

Which scientist verified Einstein's photoelectric equation with great precision,
for a number of alkali metals over a wide range of radiation frequencies ?

(A) Millikan (B) Einstein

(C) Rutherford (D) Compton

TG |+l 6 R TRAT] FAi6 Z 999 8l &, F8ad ¢ 1
(A) qIIRS (B) @AYl

(C) THeA~S (D) S § q HE e

All nuclides with same Atomic number Z are called :

(A) Isobars (B) Isotones

(C) Isotopes (D) None of the above

BRGSO URA] P = Stawel # Ho ol ~13.6 eV ©l 3 A § Joidgd H T
STt Bl 1
(A) -13.6eV B) 13.6eV
(C) -27.2eV (D) 27.2eV
The ground state total energy of hydrogen atom is about -13.6 eV. Kinetic
energy of the electron in this state is :

(A) -13.6eV B) 13.6eV

(C) -27.2eV (D) 27.2eV
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12. {1 97F p-n ¥ T, &7 p-8F ¥ n-87 F oM fqaRka 2 §, it - 1
(A) n-8F 7 Yo SaEH S AN HA o
(B) ¥ Rvditk & FROT € & IR T H §
(C) p-85 ¥ S-qiEar, n-89 ¥ 399 gimar 9 o
(D) ST @+
In an unbiased p-n junction, holes diffuse from the p-region to n-region,
because :
(A) Free electron in the n-region attract them
(B) They move across the junction by the potential difference

(C) Hole concentration in p-region is more as compared to n-region
(D) All of the above

13. FHEd, e X THETE, T@% ¥ aR €46 sade &1 39 QANd Se § SfaR
SR JRpd GAShdl SR a1 9°€ g7 & 7§ B, Sl %AW (Eg)e, (Eg)si A (Eg)ae &

e 31 fr=foied § € B9-a1 yeed gy 2 7 1
(A)  (Egsi < (Eg)ae < (Eg)c (B) (Eg)c < (Eg)ae > (Eg)si
(©) (Eee > (Edsi > (Egoe (D) (Eg)e = (Eg)si = (Ee)oe

Carbon, silicon and germanium have four valence electrons each. These are
characterized by valence band and conduction bands separated by energy
band gap respectively equal to (Eg)c, (Eg)si and (Eg)ge. Which of the following
statement is true?

(A)  (Egsi < (Eg)e < (Eg)e (B)  (Egle < (Eg)ge > (Eg)si
(C)  (Eg)c > (Eg)si > (Eg)ce (D) (Egle = (Eg)si = (Eg)ce

14. R M IR 9 o R H Siewt 366 a9 n T & ad & 36 791 Je
B 1
(A) nR B) 2nR
(C) mR (D) n*R

The length of a metallic wire of R ohm resistance is stretched n times its initial
length. Its new resistance is :

(A) nR B) 2nR
(C) n2R (D) n*R
15. el = Fueal AeaHIet Bl AlCHIEX H§ WURRY R Sfe @ 1
(A) TR | I== gfelg 1 | (B) =R § g iy I 4
(C) &l § I= "fely & & (D) Uit § 9 gy T &
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Moving coil galvanometer is converted into voltmeter by :
(A) Connecting high resistance in parallel
(B) Connecting low resistance in parallel
(C) Connecting high resistance in series
(D) Connecting low resistance in series

16. e g9 1 gIHE & @ 1
(A) TH §aq 9% A © (B) ¥ad &€ JU RN &
(C) Iga-faga & S & (D) ST H PiE T
The magnetic field lines of a magnet form :
(A) Continuous curve (B) Continuous closed loops
(C) Like the electric dipole (D) None of the above

17. U% gl d TS Fad 1 §&0s § 1 99X @ geaT .1 d§X & [ ol Fusen §
IR fag are® a7 © ¢ 1
(A) 9 diee (B) 90 die
(C) .9 dre (D) .09 die

The magnetic flux linked with a coil is decreased from 1 Weber to .1 Weber in
1 second. The induced electromotive force in the coil is :

(A) 9 Volt (B) 90 Volt
(C) .9 Volt (D) .09 Volt

18. 2 FHuekrl H FE IO 0% b W MR 787 &ear @ ? 1
(A)  URARTH % S HqEAH W (B) HUSidi & = & g W
(C) Mg fespiemama WX (D) I IR W
On what factor does the coefficient of mutual inductance of two coils not
depend ?

(A) Filled with medium inside solenoid
(B) Separation between coils

(C) Their relative orientation

(D) Their resistances

A3 : (797 19 & 27) 3ygFT Fav & Rea &l 1 gid @i -

Direction : (Q. No. 19 to 27) Fill in the blanks with appropriate answer :
19. FE oo 7 U1 I 21T & e U & & fag W fova fa @@ B 1

An ...l surface is a surface with a constant value of potential at all
points on the surface.
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20.

21.

22.

23.

24.

25.

26.

27.

(7) 5628/(Set : D)

fora fagq oTwed & B9 O Saled Kl & Sed UE IR SRRy 2ir & e a9 &
............ &Hed B 1

The electrolyte through which current flows has a finite resistance, called
the ............... .

............. FEH & STJEN, U O GO SISl fogq €T @l f&em @l X Hebd Y a9
T SFYCRT & oo Bl R Ysw & & fww { B 1

According to ............... rule, your extended thumb pointing in the direction of
the current. Your fingers will curl around in the direction of the magnetic field.

T gHsoll § G B G (N) & o F ARG g areh o 1 TG S Febell Bl 1

The induced emf can be increased by .............. the number of turns (N) of a
closed coil.

TEH SRR FOT SO AT ArAEE & aAMt X 10° Hz R & AW Bl 31 Qb
g S I b T B AR 2l 1

A charged particle oscillates about its mean equilibrium position with a

frequency of 10° Hz. The frequency of the electromagnetic waves produced by
the oscillator is .............

............... % HRU qdiad g9 § Y4 AT ¢ adiah q9 6 U9E ga @6l

il BTl 1
Advance sunrise and delayed sunset is due to ............... .
B R T 2 EINC A LU LR M TR 1
Photons are not deflected by Electric and ............... fields.
TR & WHY & AR disd H, WA & Ho 4969 q° 366 AR EATH
UTAY] & 950 BIC § AT H Hhind Bl o B ... Fed ol 1

In Rutherford's nuclear model of the atom, the entire positive charge and most
of the mass of the atom are concentrated in the ............... .

ol n-9eR & R & oo IIEESH a2 1

In an n-type silicon ................ are minority carriers.

739 : (797 28 @ 35) =T 597 % I @F I=) T H g -

Direction : (Q. No. 28 to 35) Answer the following questions in one word/sentence :
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28.

29.

30.

31.

32.

33.

34.

35.

(8) 5628/(Set : D)

el § SRRigHar W T4 & So B 1 J99 95l © 7 1
What is the effect on resistivity in metals, with increase in temperature ?
qRT O (j) SAfasr TRT 2 SFerAm ST R 1

Current density is scalar quantity or vector quantity.

el &M W geft & T 89 & Afoe] 9o a9 SEEK 9ok G & 9 WM W T
HIOT T {7 B 7 1

The horizontal and vertical components of the earth's magnetic field at a place
are equal. What is angle of dip at the place.

20 ¥ BHE-gU & IA9 a9 d 40 AN R THA B T ([SG-TH A @ 2| A
% gadl ofx wfdfsa el awm ? 1
A point source of light is placed at a distance of 40 cm from a convex lens of
focal length 20 cm. Where should image formed on the other side of lens.

S AR H YA Fael B WA (ne) TUT Bl B HEA (nn) e oI B 71
In intrinsic semiconductors, what is the ratio of the number of free electrons
(ne) to the number of holes (nu).

BRGSM WAY] & Sigl A # adg H Gedl FE B B r, o1 G wE a Bre
fepert B ? 1
The radius of the first electron-orbit in hydrogen atom of Bohr model is r,.
What will be the radius of the fourth orbit ?

e 3 fece 5@ #, Bl & AieE gd ek d AT & A | 3 AT Bal e
SIS & TGS Bl hd TG BN 7 1

In a single slit diffraction experiment, the width of the slit is made double the
original width. How does this affect the size of central diffraction band ?

T ol Tt 9 @ Hid (STUEcHid = 3/2) F SUakid B ol UK Jo SR TN
P TEREAT B SRRl EIHTQ°| 1
Monochromatic light is refracted from air into glass of refractive index 3/a.
What is the ratio of the wavelengths of the incident and the refracted waves ?
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